CLAYTONOFFROAD L 203-691-8593 ® CLAYTONOFFROAD.COM f @ CLAYTONOFFROAD

INSTALLATION MANUAL.:

COR-52090103

JEEP STEERING STABILIZER RELOCATION
BRACKET 2007-2020+, JK/JL/JT

@

CLAYTON

—=O0OFF ROAD —

BUILDING THE ULTIMATE JEEP SUSPENSIONS




CLAYTONOFFROAD L 203-691-8593 ® CLAYTONOFFROAD.COM f @ CLAYTONOFFROAD

INCLUDED ITEMS

5209010 Jeep Wrangler Steering Stabilizer Relocation Bracket (2007-2018+, JK/JL/JT)

Part
QTY Number Description Class/Grade ID Number
1 5209010AF Steering Stabilizer Mount (JK/JT/JT) N/A 1
1 0128792 M12-1.75 x 70mm DIN 931 Zinc Finish Hex Cap Screw  Class 10.9 2
M12 x 24mm Yellow Zinc Finish Steel General
3 11103710 Purpose Flat Washer Grade HV200 3
1 40171 M12-1.75 Nylon Insert Nut Class 8 4
3/8"-16 x 11/4" Yellow Zinc Finish SAE J429 Hex Cap

1 15107 Screw Grade 8 5
3/8" Yellow Zinc Finish SAE Thru-Hardened Flat

1 33815 Washer N/A 6

1 33893 3/8" High Alloy Lock Washer N/A 7

1 36406 3/8"-16 Yellow Zinc Finished Hex Nut Grade 8 8
9/16"-18 x 3" Yellow Zinc Finish SAE J429 Hex Cap

1 18947 Screw Grade 8 9
9/16" Yellow Zinc Finish SAE Thru-Hardened Flat

2 33818 Washer N/A 10

1 1100110AF Heavy Duty Track Bar Nut Tab Flat with Welded Nut N/A n

Product Notes and Features:

* 3/16" gold zinc-plated steel formed using the latest CAD software and manufacturing techniques

* Innovative double-shear design significantly increases the strength of the steering stabilizer
mount, ensuring a secure and tight fit

» Allows for most aftermarket stabilizers to be relocated above the tie rod, reducing the risk of
impact with obstacles

* The track bar bolt remains easily accessible, even with the stabilizer installed, simplifying
installation and retorquing. Includes all required hardware for mounting the bracket, track bar,
and steering stabilizer to the axle

* 2007-2018 JK: Factory tie rod mount can be reused

* 2018+ JL and 2020+ JT: Requires an additional drilled hole and a new tie rod mount (refer to
product 5200940)

BUILDING THE ULTIMATE JEEP SUSPENSIONS




CLAYTONOFFROAD L 203-691-8593 ® CLAYTONOFFROAD.COM f @ CLAYTONOFFROAD

INSTALLATION INSTRUCTIONS

TOOLS REQUIRED FOR INSTALLATION

. Basic hand tools
. Metric wrench/socket set
. Standard wrench/socket set

**#*Take this product to a licensed professional if you are hesitant about the installation process!***

1. Position the vehicle for the installation either on the ground or on a lift. For this installation, it is recommended that the
vehicle be supported by the frame, with jack stands beneath the front axle.

| — | AL
= bR

et o TR b
= L | -4 -
s < T o R

Figure 1: Vehicle on lift with front axle supported

BUILDING THE ULTIMATE JEEP SUSPENSIONS




CLAYTONOFFROAD L 203-691-8593 ® CLAYTONOFFROAD.COM f @ CLAYTONOFFROAD

INSTALLATION INSTRUCTIONS

2. Remove the factory steering stabilizer bolt on the axle mount, and then the tie rod mount bolt. If installing this product on a
2007-2018 JK, you may reuse the factory steering stabilizer tie rod mount, simply loosen and twist the mount above the tie rod. If
installing this product on a 2018+ JL or 2020+ JT, remove the factory tie rod mount, as it cannot be reused.

Clayton Off Road offers a Tie Rod Clamp (5200940) for 2018+ JL and 2020+ JT customers wishing to reuse their factory
stabilizer, or most aftermarket stabilizers in conjunction with this Steering Stabilizer Relocation Bracket (5209010).

Figure 2: Factory steering stabilizer axle mount location

BUILDING THE ULTIMATE JEEP SUSPENSIONS




CLAYTONOFFROAD L 203-691-8593 ® CLAYTONOFFROAD.COM f @ CLAYTONOFFROAD

INSTALLATION INSTRUCTIONS

3. With the steering stabilizer removed, remove the track bar bolt. The axle may shift slightly once the bolt is removed,
especially if the vehicle is supported by the frame. This is normal, and you will be able to install the new 9/16" track bar bolt and

washers when the vehicle is back on the ground.

NOTE: You may choose to clean and prep the mounting area for the steering stabilizer bracket.

Figure 3: Steering stabilizer and track bar removed from factory mounting locations

BUILDING THE ULTIMATE JEEP SUSPENSIONS




CLAYTONOFFROAD L 203-691-8593 ® CLAYTONOFFROAD.COM f @ CLAYTONOFFROAD

INSTALLATION INSTRUCTIONS

4, Install the 3/8" bolt with the included washer on the outside of the new bracket, then use the split-lock washer and nut on
the inside of the bracket. You will need a 9/16” box wrench and socket. Tighten to 40 ft-Ibs. You may temporarily install the track

bar bolt to ensure the bracket is properly aligned.

NOTE: JK models will utilize the bottom bolt hole, while JL/JT models will need to drill out at the bracket’s upper bolt hole.

| 5% e S
Figure 4: 3/8" bolt with washer, lock washer, and nut installed, with track bar bolt hole aligned

BUILDING THE ULTIMATE JEEP SUSPENSIONS




CLAYTONOFFROAD L 203-691-8593 ® CLAYTONOFFROAD.COM f @ CLAYTONOFFROAD

INSTALLATION INSTRUCTIONS

5. Position the vehicle on a flat surface if it is not already and let the vehicle's weight realign the track bar to its proper location.
Then, install the 9/16" track bar bolt with included washers and locking nut tab. Install the locking tab with one of the included
washers, in the orientation shown. With the vehicle sitting under its own weight, torque the new track bar bolt to 150 ft-Ibs.

dacw WP

& : < ) o i Lm‘; At N & -;‘m.l.ﬁ" m‘ E::
Figure 5: Track bar reinstalled with included 9/16" bolt, washers, and lock tab

TIP: Opening the track bar bushing with a 9/16"” reaming bit may help during track bar reinstallation if there are burrs
or signs of wear on the bushing sleeve. Take care when widening the sleeve, and do not remove too much material.

BUILDING THE ULTIMATE JEEP SUSPENSIONS




CLAYTONOFFROAD L 203-691-8593 ® CLAYTONOFFROAD.COM f @ CLAYTONOFFROAD

INSTALLATION INSTRUCTIONS

6. Install the factory or aftermarket steering stabilizer with the included M12 bolt, washers, and top lock nut in the orientation
shown in Figure 6. Depending on the steering stabilizer, you may need to use the extra included washer as a spacer, also seen in

Figure 6. Do not torque the steering stabilizer bolt yet.

e

Spacer washer
Y "

Figure 6: Steering stabilizer installed with the bolt head on the bottom of the bracket, and spacer washer installed

BUILDING THE ULTIMATE JEEP SUSPENSIONS




CLAYTONOFFROAD L 203-691-8593 ® CLAYTONOFFROAD.COM f @ CLAYTONOFFROAD

INSTALLATION INSTRUCTIONS

7. Turn the steering wheel to full lock to the right and compress the steering stabilizer shaft so 14" of the shaft is exposed
between the eyelet and the body.

With the stabilizer still compressed, loosely mount the tie rod clamp wherever the eyelet of the stabilizer is located.
Depending on the tie rod clamp, this location may vary slightly. Slip the stabilizer bushing over the bolt on the tie rod clamp, and
tighten the clamp to the tie rod. Regardless of your setup, make sure that the stabilizer does not interfere with any parts of the
vehicle when everything is tightened down. More information on steering stabilizer installation can be found directly from the

manufacturer.

Flgure 7 Factory steering stabilizer (Ieft) and Fox steering stabilizer (rlght) installed with COR-5209010 Tie Rod Clamp on Jeep
JL

TIP: For FOX ATS models, turning the adjuster screw on the eyelet fully counter-clockwise will
make compressing the stabilizer easier.

BUILDING THE ULTIMATE JEEP SUSPENSIONS




CLAYTONOFFROAD L 203-691-8593 ® CLAYTONOFFROAD.COM f @ CLAYTONOFFROAD

INSTALLATION INSTRUCTIONS

8. Torque the M12-1.75 steering stabilizer axle mount bolt to 50 ft-lbs. Use the included washers on either side of the bracket. If
using the COR-5200940 Tie Rod Clamp, torque the tie rod clamp mount for the stabilizer eyelet to 50 ft-lbs, and make sure the

clamp bolts are tight.

TIP: The track bar bolt is
easily accessible even
when a steering stabilizer
is installed, making a re-
torque simple and easy.

Figure 8: Stock steering stabilizer and fox steering stabilizer
installed with COR- 5200940, Tie Rod Clamp

BUILDING THE ULTIMATE JEEP SUSPENSIONS




CLAYTONOFFROAD L 203-691-8593 ® CLAYTONOFFROAD.COM f @ CLAYTONOFFROAD

INSTALLATION INSTRUCTIONS

9. To ensure proper clearance and fitment, turn the steering wheel fully to the left and right, checking for any interference with
components. Having a friend assist can make this process easier. The installation is now complete.

POST-INSTALLATION CHECKLIST:
Q Stabilizer bolts are torqued to 50 ft-lbs
O 3/8" bracket mounting bolt is torqued to 40 ft-Ibs
O Track bar bolt (axle) is torqued to 150 ft-lbs

Q No interference occurs when the steering wheel is turned to full-lock ‘ I AY I o N

O Re-torgue all hardware after 500 miles
a — —-OFF ROAD —

BUILDING THE ULTIMATE JEEP SUSPENSIONS




	Slide 1
	Slide 2: INCLUDED ITEMS
	Slide 3
	Slide 4: INSTALLATION INSTRUCTIONS
	Slide 5: INSTALLATION INSTRUCTIONS
	Slide 6: INSTALLATION INSTRUCTIONS
	Slide 7: INSTALLATION INSTRUCTIONS
	Slide 8: INSTALLATION INSTRUCTIONS
	Slide 9: INSTALLATION INSTRUCTIONS
	Slide 10: INSTALLATION INSTRUCTIONS
	Slide 11: INSTALLATION INSTRUCTIONS

